Ideal Mathematics-7

1 Integers
Exercise-1.1 9. 4 steps
(1) Ascending order is @)
' —9<—7<—5<0<5<12 < SR >
(i) Ascending Order is 210 1 2
-19<-3<0<5<9<15 .
(i) The integers in between —5and 4 (i) 3 steps
are —4,-3,-2,-1,0,1, 2,3, /_\
(i) The integers in between —13 and < i I I i >
—4are 3 -2 -10
’ —12,—11,710,—9;'8,—7,—6,—5 (iif) 4 steps
. (1) -5<-3(@{1)4>0(@i1)-5<4
(iv) —15<7(v)=7>-11(vi) 13>-25 F/_\
. (i) 15,—12 greater integer is 15. < — 1+ >
Successor of 15 =16 -2 -1 0 1 2
(i) —4,7; greater integer is 7
Successor of 7=8 (iv) 3 steps
(ii1) —14,25; greater integer is 25. P m L -~
Successor of 25 =26 - I -
(iv) —3,-9, greater integer is —3. S5 4 -3-2-10
Successor of —3=-2 10. (i) (-4)+3+(-5)
(v) —12,-5; greater integer is — 5. =[(=4)+ 3]+ (-5)
Successor of —5=—4 =(-4+3)-5
(vi) 0, —5; greater integer is 0. ——1-5=-6
Successor of 0 = 1 (il) 5+ (=2)+(-5)
(i) —4,-7 Smaller integer is —7. =5+(-2-5)
Predecesor of —7=-8 =5-7=-2
(i) —2,—5; Smaller integer is — 5. (i) 16+ (-4)+(-7)
Predecessor of —5=—6 =16+(—-4)+(-7)
(ii1) 2, —3; Smaller integer is —3. =16-11
Predecessor of —-3=—4 =5
(iv) —10,15; Smaller integer is —10. iv) (=4)+(15+(-12)
Predecessor of —10=—11 =(-4+15)-12
(v) —5,13; Smaller integer is — 5. =11-12
Predecessor of —5=-6 =-1
(vi) —4,2 Smaller integer is —4 V) (=25)+(50)+ 20
Predecessor of —4 =—5 =(-25+50)+ 20
. 3 integers preceeding —4 are —5,—6,—7 =25+20
7. 2 integers succeeding —7are —6,—5 i) (402425 54 (-20)
. vi +(=5)+(-
8. (1) Absolute value of -4 =|-4|=4 Z40+ (=5-20)
(il) Absolute value of 0=10|=0 —40-25
(i) Absolute value of +7=|7|=7 -15

(iv) Absolute value of —8=1]-8|=8
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1. ()

(i)
(iii)

(iv)

12. @)

(i)

(iii)

(iv)

13. (i)

(i)

(iii)

Subtract —7 from —8
=—8—(-7)
=—8+7=-1
Subtract 4 from —15
=-15-4=-19
Subtract —17 from 25
=25-(-17)
=25+17=42
Subtract 15 from 35
=35-15=20
-50+20-30+ 40
=(-50-30)+(20+ 40)
=-80+60=-20
—-54+7-5+2-5
=—5-5-5+7+2
=—15+9=-6
4+ (=5+C7)
=4+ (-5-17)
=4-12=-8
16+ (-17)+ 20
=16+20-17
=36-17=19
Shimla —6°C, Manali -9°C,
Srinagar —17°C, Ooty —7°C, Pune
14°C
Hottest place is
temperature 14°C
Coldest place is
temperature —17°C
difference of these temperatured is
=14°C - (-17)°C
=14°C +17°C=31°C
Yes, the temperature of Srinagar
and Manali taken together is less
than temperature of Srinagar.
Yes, it is less than temperature of
Shimla.

Pune with

Srinagar with

Exercise-1.2

L )
(i1)

(iii)

Leta=-13b=8
Sumofa+b=-13+8=-5
Leta=-13,b-38
difference of a —b=—13—(-8)
=-13+8=-5

Leta=12b=-28
Sumofa+b=12-8

=4
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(iv)

2. (@)

(ii)
(iii)

(iv)

)

(vi)

Leta=-8 b=-13
difference =—-8—(—13)
=-8+13=5

Leta=-5b=-3
a+b=-5+(-3)=-8
Leta=-8 b=5
a+b=-8+5=-3
Leta=—4,b=+38
a+b

=—4-(-9)

=—4+8=4
Leta=—4,b=-8
difference of a — b

=—4—-(-8)

=—4+8=4
Leta=-8 b=4
a->b

=-8-(-4)

=—8+4=—4
Leta=-3,b=8
Sumofa+b=-3+(8)

=-3+8=5

Total score of team A4

=45+ (—=50)+ 75
=120-50=70

Total score of team B

=-45+50+25
=—45+75=30

Difference =70 -30=40
Team A scored 40 points more than
Team B.

4. @@

(ii)
(iii)
(iv)

™)

(vi)

(vii)
(viii)

5. ()

=3+ =)=+ (=5)
(Commutative property of addition)
4+0=4 (Additive identity)
-53+0=-53 (Additive identity)
4+[(=5)+T=[4+(D]+(=5)
(Associativity of addition)
25+[(=50)+ 5]1=(25+ 5)+ (- 50)
(Associativity of addition)
(—4)+ 0=-4 (Additive identity)
4+(-4)=0 (Additive inverse)
54+ (=5)=0 (Additive inverse)
(=4 +(=5)[]10+(-5)
LHS RHS
=—4-5 =10-5
=-9 =5
-9 <5
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(i) (=25)+(50)[ 150+ (-25) Again, Distance to west delhi = 80 km

LHS RHS Mohit was far form Delhi = (80 —-49)km
=-25+50 =50-25 =31 km
=23 =23 Exercises-1.3

25 =25
(iii) 75+ (=100)[]25+ (-60) L (i) 15x(-16)=-240

LHS RHS (i) 32x(=21)=-672
=75-100 =25-60 (iii) 12x (-42)=-504
=-25 =-35 (iv) 25x(-15)=-375

-25>-35 (v) 25%x22=550
(iv) 48+ 120[](—48)+(-120) (vi) 24x-12=-288

LHS RHS 2. (i) 24x(-22)=(-22)x 24
=48+120 =-48-120 LHS; 24 x (-22)=-528
=168 =-168 RHS; (-22)x 24 =-528

168>— 168 LHS =RHS
(V) =24+5+(-7[]36+(-52) —528=-528

LHS RHS (i) 7x {5x(=3)}=(-3)x(7x5)
=-24+5-7 =36-52 LHS; 7x{5x(-3)}
=-31+5 =-16 =7x—-15=-105
=-26 RHS; (=3)x(7x5)

-26<-16 =-3x35=-105
. Maximum temperature of a city = 18°C LHS=RHS
Minimum temperature = —3°C -105=-105
Temperature fall=18°C —(—3)°C (iii) (=25)x (—20)=(-20)x —25
=18°C + 3°C LHS; (-25)x(-20)=500
=21°C RHS;  (-20)x —-25=500
. Sum of two integers =—30 LHS = RHS
Let required integers be x 500=500
One integer =15 (iv) (=75)x10=10x (-75)
Thus, x+15=-30 LHS ~ (=75)x10=-750
x=-30-15=-45 RHS 10x (=75)=-750
Required integer is —45. LHS =RHS
. Depth =3500 m below sea level —-750=-750
Ascending height = 1200 m (V) (=24)x (5x2)={(-24)x 5}x 2
Depth at new position LHS = =(-24)x(5x2)=240
=3500 m - 1200 m RHS  ={(-24)x 5}x 2
=2300 m =-120x2=-240
Submarine is now at 2300 m below the LHS =RHS
sea level. —240=-240
. Rehana had money =% 2000 3. Product of (-=9)x (=5)x (-6)
Money deposited =T 700 =-270
Withdraw money =% 1000 Product of (=9) x (=5)x (=6)x (-1)
Her balance money =270

=% (2000 + 700 —1000) Because number of negative inegers in
=31700 (=9)x (=5)x (—6)is odd.

. Distance travelled to east of Delhi = 49 Where as number of negative integer in
km (=9)x (=5)x (-=6)x (=1)is even.
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4.

6.

) =H)x(=2)x (=D
or (4)x(=2)x(-1)

(=4x-2)x —lor (4x-2)x—-1
=8x—-1=- —8x—-1=8
-8<8

(4)x (=2)x (=1)is greater.
(1) (=2)x (5)x(=7)or (=1)x (=5)x 8

(=2x(5)x(=7) (-1x=5)x8
=-10x-7 =5x8
=70 =40

70> 40

(=2)x (5)x (=7)1is greater.
(iii) (-4)x 0x(=3)or(-4)x(-3)
=—4x0x-3 =—4x-3
=0 =12
0<12
(—=4)x (—3)is greater.
(V) (=7)x (=5)x(-1)
or  (=7)x(1)x(=5)
(=7)% (=5)x (~Dor (<7)x (1)x (~5)

=-35x-1 =-T7x -5
=-35 =35
-35<35
® 3)x(=D=(=Dx(=3)
(Commutative property of
multiplication)

(i) {(=4)x(D)ix5=1x5)x(=4)
(Associative property of
multiplication)

(1) (=3)x{5+(-6)}=(-3)x5
+(—=6)x5
(Distributive property of
multiplication)
@iv) (-3)x1=1x(-3)
(Commutative property of
multiplication)

(v) (-1756)x0=0
(Property of multiplication)
(vi) (—24)x25=25x-24
(Commutative property of
multiplication)

(vii) (=2)x 3=3x(=-2)

(Commutative property of
multiplication)
(1) (—18)x (-10)x9=(-18x-10)x 9
=180x9
=1620
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(i1)
(iii)

(iv)

(i)

(i)

(iv)

(1)

(=20)x 7x(=5)=(-20x =5)x 7
=100x 7="700
(=Dx(=4)x (=6)x(=5)
=(=4x-6x-5)x~1
=-120x —1=120
(—40)x 4 x 125=—-40x (4 x 125)
=-40x 500
=-20000
10x {8—(—=3)}=10x 8—-10x (-3)
LHS =10x {8—(-3)}
=10x {8+ 3}
=10x11=110
=(10x 8)—(10x -3)
=80-(-30)
=80+30=110
LHS =RHS

(=25)x{(=9) = (=4)}

RHS

LHS  =(-25)x {(-9)~(~4)}
=—25x {—9+4}
=—25x-5=125

RHS  ={(-25)x(-9)}

—{(-25)x (-4)}
=225-(100)
=225-100 =125

LHS = RHS

(—40)x 43+ (-3)}
={(-40)x 43} +{(-40)x (=3)}
LHS  =(—40)x {43+ (-3)}
=—40x {43 -3}
=—40% 40=—-1600
= {(~40)x 43}
+{(-40)x(=3)}
~1720+ 120
=-1600
LHS = RHS
28 (10+(=7)}
= 28x 10} + 28 x (=7)}
=28x {10+ (=7)}
=28x(10-7)
=28x 3=84
=28 104+ {28% (-7)}
=280+ (~196)
=280-196= 84
- LHS = RHS
36 (=56)+ (—56) x (—46)
—56(36+ (—46)
~56% —10=560

RHS

LHS

RHS

3



9.

10.

g

(i) 8x 48x(—125)=(8x—125)x 48 (ii) Raveena attempts correct answers
=-1000x 48 =16
=-48000 Raveena attempts incorrect answers
(iii) 7% (48+2) =8
=(7x48)+ (2x7) His marks =16x 5-8x2
=336+ 14 =350 =80-16=64
(iv) (—45)x 108 (ii1) Hamid attempts correct answer = 4
=(—45)(100+ 8) Hamid attempts incorrect answer =
=(—45x100)+ (—45x 8) 12
=(—4500) + (-360) His marks =4x5-12x2
=-4500-360=-4860 =20-24=-4
(V) 725x(=35)+ (—=725)x 65 Exercise-1.4
=725(-35+ (—=1)x 65)
=725(=35+(=65) L. (i) (-40)+5=—(40+5)=-8
=725(-35-65) (i) (—450)+ (3+6)=—(450+9)
=725%x-100=-72500 =-50
(vi) (-17)x-29) (i) (=36)+ (12+0)=(36+12)=-3
=(=17)x(=30+1) @iv) (=50)+50=-(50+50)=-1
=(—17x=30)+(-17x1) (v) 420+ {10+ (-8)}=420+{10-28)
=510-17=493 =420+2=210
(vil) =57x {(-19)+ 57} (vi) (—46)+[(—40)+(-6)]
=57{(-Dx(-19)+ 1} =(—46)+[(—40-6]
=57{19+ 1} =—46+—-46=+1
=57x20=1140 (vil) {(-48)+12}+2
(viil) 83x(-99)+ (—83) ={-48+12}+2
=83(-99+ (-1)} =—4+2=-2
=83(-99-1) (viii) {(—16)+ 12} + {(-4)+ 2}
=83x —-100=-8300 ={16+12}+ {~4+2)
(ix) 46+ (=79)x (—46) (ix) (25+5)+[5+5]=5+1=5
=(46){1+ (=79)x (-1} 2. (i) a=-15b=3
=46{1+ 79} Value of @ and b put in eq. (i)
=46x 80=3680 a+b#b+a (1)
Starting temperature = 50°C ~15=3%3=-15
Rate of falling temperature —5£-02
= 5°C per hour (i) a=36b=6
Temperature after 8 hours Value of ¢ and b put in eq. (i)
=50°C—(5°C % 8) a+b#b+a ...(1)
=350°C—-40°C 36+ 6% 6+ 36
=10°C 6#0.17
Total questions = 24 (i) a=50b=-5
Marks on correct answer = 5 Value of @ and b put in eq. (i)
Marks on incorrect answer = —2 a~b+*b=-a (1)
(1) David attempts correct answers = 8 50+ —5%5+50
David attempts incorrect answer = ~10%-0.1
16 (iv) a=-72b=-6
His marks =8x 5-16x 2 Value of @ and b put in eq. (i)
=40-32=38 a+b#b=+a ...(0)
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=712+ 6#—-6+-72
12#0.083

3. (i) a=48 b=4,c=-2

2

Value of a,b,c put in
a+(b+c)z(a+b)+(a+c)
48+ (4+(-2))#(48+4)+ (48+-2)
48+ 2# 12+ (—24)
24 #—12
(i) a=-20,b=-5c=4
Value of a,b,c put in
a+(b+c)z(a+b)+(a+c)
20+ (-5+4)#(-20+-5)+(-20+4)
=20+ —1# (4+(-5))
20 —1
4. The ground level =-25m
Starting point =—-25m
Total distance =(25+ 50)m =75 m
rate = 5 m/min
Time taken =(75+ 5)=15m
5. Temperature at midnight (12:00) =—-4°C
Increasing temperature rate
=+ 2°C per hour
Temperature at 4 am. =(—4 + 2x4)°C
=4°C
Temperature at 12 noon
=(-4+2x12yrC
=(—4+24)C=20C
6. Marks for a correct answer = (+5)

Exercise-2.1

34><7328325 4

1. (1) 4-== ——=—or3—
7 7 7 7 7
(ii) 3 +5l E 11_15+11x2
2 4 2 4
15+22 37 1
= =—or9—
4 4 4
(iii) 9+i 9% 11+5 1040r9£
11 11 11 11
. 1,525 21_25x8-21x3
@iv) 8- -2-=—-—"—=——""——
3 78 3 8 24

200 63 137 517

r PR
24 24 24

13 16 13x5-16x4
) So=
4 5 20
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Marks for an incorrect answer = (—1)

(1) Rohit scored = 30 marks
Correct answer = 10
Marks in correct answer
=10x5=50
Number of incorrectly question
=50-30=20
(i) - Total number of question =50
marks obtained by joy =—14
Let correctly answered questions

be x.

incorrectly answered questions
=50—-x

then,

(xx5)+[(50—x)x—-1]=—14
Sx +[-50+x]=-14
S5x—50+x=—14
6x=—14+50
x=36+6=6
correcly answered questions = 6
incorrecly answered questions
=50-6
=44
MCQs
1. (b) 2. (c) 3. (c) 4. (a) 5. (c) 6. (a) 7. (a) 8. (b)
9. (a) 10. (c)
Mental Maths
Ans. 1. —7km 2. +1 3. greater, less 4. zero.

Fractions

65 64 1

20 20
. 1 36 28 36x9+28x 7
(vi) 5-+3-=—+"—"="+~— —
7 9 7 9 63
324+196 520 SE
63 63 63
5 8x2+3x9+5x3

3.7

2 6 18

16+27+15 ﬁ §32
18 8 9 9

2. (i) Ascending order _ 1 <— ! < 1 <1
10 6

8
—+

(vii)

3 2
8 11
_<—

9

=

(ii)) Ascending order zg <g <



iy 2313 _16_24_32_40_48
3426 26 39 52 65 78
LCM of3,4,2and 6 is 12. Five equivalent fractions of
We convert each of the given 8 16 24 32 40 48
fraction into an equivalent fraction 1326395265 78
with denominator. (ii) 9 _ 9x 2 _ 9% 3 _ 9x 4
Thus, we have 17 17x2 17x3 17x 4
E:2X4:8 _9x5 9x6
3 3x4 12 T17x5 17x6
3.3x3_9 L1827 36 45 54
4 4x3 12 _a_a_&_g_ﬁ
l _ ﬁ _ E Five equivalent fractions of
2 2x6 12 9 18 27 36 45 54
5 5x2 10 17 3475168 85 102
6 6x2 12 (iii) i=5><2=5><3=5><4
Ascending order 11 11x2 11x3 11x4
6 8 9 10 55 5x6
=< —<—<— = =
12 12 12 12 1Ix5 11x6
or 1,233 _10_15_20_325_30
2.3 46 22 33 44 55 66
(iv) l,g,ﬁ,g Five equivalent fractions of
10 515 30 5 10 15 20 25 30
LCM of 10, 5, 15 and 30 is 30. 11 2233 44’ 55 66

We convert each of the give

1
fraction into an equivalent fraction 4. Letxaddedto 85 to get 14.

with denominator. g 1 1
Thus, we have o 7
l_7><3_2 57
10 10x3 30 xr =14
3 _3x6_18 7x+57_14
5 5x6 30 7
8 8x2 16 Tx+57=14x7
15 15x2 30 Tx=98-57
41 6
19 _19x1 19 x=—or5-
30 30x1 30 T ;
. 16 18 19 21 Thus, required number is 5—.
Ascending order=— <— <— <— 7
30 30 30 30 3 |
8§ 3 19 7 5. Let subtract x form 12=to get 7—
or —<=<—<— 5 5
[ 0.
3. () S =2r2 0 5 5
13 13x2 13x3 63—5x 36
_8x4  8x5 80x6 5 :?
13x4 13x5 13x6 (63—5x)5=36x5
315-25x =180
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—25x=180-315
-135 27 2
X=———0r—orS5—
-25 5

Required number is 5%.

. Length of a rectangular sheet of a paper

:151 cm:ﬁ cm
3 3

Breadth of a rectangular sheet of a paper

:121 cmzé cm
2 2

Perimeter of rectangular sheet =2(/ +b)
(46 25)
=2 —4+ =
32
_2(46>< 2+ 25x% 3)
6

:2(92+75j
6

:2x£:£or552cm.
6 3

. Side of a squares hoped frame = 17% cm

Perimeter of picture frame =4 x side

—4x172 —4x 1D
9 9

=@ or 68§ cm
9 9

. Geeta solve = % part
o 7
Aditi solved = 9 part

Comparison of 3 and !
5 9
LCM of 5 and 9 is 45.
§_3x9_£
5 5x9 45
z_7><5_§
9 9x5 45
27 35 3 7
<" or=<—
45 45 5 9
Aditi solve more exercise.

. Shagun ate = % part of a cake

2_
7

Remaining cake =1—

<l w
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Part eaten by the two brothers =§

5. 2
= is greater =
7 7

The brothers had a larger share.

The part eaten by the brothers in excess
2523
7 7 7
10. Let two numbers be x and y.

L
5 y
(a) Sarika had Im long rope. Aman

had % m rope. Find total length of

the rope.
(b) Find the sum of 3 and Ed
5 10

(c) Rahul read % part of story book in

moving and he read % part in

evening. How much book did he
read?
(d) Difference of two fraction numbers

is Zl Smaller fraction number is 2

Find the other fraction number.

(e) Kiran brought é cm red ribbon and

% cm green ribbon.

Find the total length of the ribbon
brought by her.

Exercise 2.2

§>< 4:¥or10g

3 3 3

(i1) 13x g:ﬁor 51
55

5
7:§0r41
5 5

3

i) =x

(iii) s
3

20x ==5x3=15
4

Lorag=a8x 1 =24
2 2

o
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(i)

(iii)

(i)

(iii)

(i)

(1i1)

! 1 x36=18

—of36=

2

1 1
—0of102==x102=51
2 2

1 1

—0f 998 =998 x — =499
2 2
ﬂ0f35=ﬁ>< 35=28

5 5
ﬂ0f60=ﬂ>< 60=48

5 5

4 of105=ﬂ>< 105=84
5 5

4 4

—0f1500=—x1500=1200
5 5
% of an hour [1 hour = 60 min]
l>< 60=15min
4
gofa year (1 year =12 months)
2
3>< 12 =8 month
% of'a day (1 day = 24 hours)

% x 24 =20hours

4 x 81—4 65
8
_65 :32,1
2 2
3Ix 7_3 37
7 7
N6
7 7
9x 2f =9x 22 =22
9 9
Number of triangle12

Lori=ty12=3
4 4

Number of circles = 15

gof15:g><15=2><3:6
5 5

Number of squres = 20

l0f20:l>< 20=10
2 2

7.

10.

(1) Number of students = 50

Number of members in Drama club

~ 1 s0=10
5

Number of members in Debating

society =1—10 x 50=35

(ii) Number of members in mathe-
matics or science club
=50-(10+5)
=50-15=35
Total number of student = 50

Fraction = E or l
50 10

Total number pages in a book = 550
Preeti has read :% of 550 =440

She has read 440 pages.
Distance covers in 1 hour = 70% km
21 1 21,
3

Distance covers in 6 hours :% x 6

=422km
Armaan’s monthly income =3 20000

His house hold expenses

:% of his income

:% % 220000

=316000
His saving =% (20000 — 16000)
=34000

Exercise 2.3

1.

(i) —

3.2

() 3x52- J

17_17
A 4
« 27

3
4
8 2 3P
° =S 6
(11)9 /9’,4’
ENENRS G

“26 & 26, 4
E_4XL2_@

7 5 7 35

1

(iv) gx

A\ Mathematics—7



25 25 _ 25 25 625 6 .49 7 4
(V) —x—="x—=—+ —of = —of —
3 3 3 3 9 7 5 8 5
oy 2esl 2,21 42 6,4 7 48
5 4 5 4 20 10 7 5 8 5
42 42
i 62 22Xy - -
315 3 4
N 60497 148
(viii) ﬁ 32 i _15 7 5 8 5
75 7 X 7 Both are equal.
6
(ix) 1, ﬂ & Py _6 5. Length of rectangular park = 15% cm
12 110 12, HO4, 5
_46
—cm
(x) 19, 1_ 2 iz% 3
1 3 1 3.3 Breadth of rectangular park = 13% cm
2. (i) —of==—x===
4 4 4 416 _27
—cm
iy Lopl6_1,16_4
4 7 4 7 7 46 27
(i) 1 .20 1 20 5 Area of rectangular park = 3 x 5
i) —of —=—x"—"==
4 3 4 303 —23% 9=207 cm 2
5 () Zof?-2,9.3 T
V39573727 6. Costof1kg tomatoes:?l922??
. 2 .6 2 6 4
(i) 3 Ofg § 5 5 -.cost of 3% kg of tomatoes=% g X %
(i) 2of > =2x 31 539
310 3 10 5 e
L1 3 1
4 () tof>orsoft =% 67.3750r3 67.38
34 2 5
. 3 55
1 f3 1 f4 7. Sldeofsquare:13zm:Zm
3 4 2
1 3 1 4 Area of square :% x % 2
= X — X —
3 4 2 5
1 2 = % or 1891—16
4 5 3
LCM of 4 and 5 is 20. 8. Side of an equilateral triangle = 7§ cm
Ix5 5
= 59
4x5 20 Y cm
2x4 _ 8 . . 59 . 177
55 20 Perimeter of triangle = n x 3= Y cm
5 8 1 . 177 1
20 < 20 5 of perimeter = Y X 5
1 of 4 is greater than 1 of E ﬂcm orl 1i cm
2 5 3 4 16
6 @ z 48 9. Money that Neeru and Zaara had
(i) —of of

together =3 2500

85’



Neeru’s shareziéx 2500=% 1500 W) 4.8.49.9
5 7 9 7 8 14
Zaara’s share =% (2500 - 1500)=3 1000 iy slo 425,37 925 451
10. Distance covered by using 1 litre petrol 3 37 3 12 12
=25km .. 3 5 35 17 35 6
16 O AT s e 81
Di b
istance covered by using 351( s lj E i 105 o ﬂ
petr01:25><1—6km 3.9 3 49 g 687 68
5 (viii) 2+ 2=2x= ~2Tor1 L
=5%x16=80km 5 4 5 4 20 20
1. L ds book in 1 day =12 h 3. () 2is22, 1.4
. nar in =1=hour . — —X—=—
eena reads boo ay ; ours 5 9 s 15
12 o 2 2 l 1
=—h i) — + Tox =
7 o M 58515 5 60
1 7 1 7
Leena reads book in7day:1—72>< 7 hours (1ii) 35 +4 5 i §
=12 hours (iv) 5§+14=§ ! 38 19
12. Total number of students = 50 7 714 98 49
2 2 1 2
Numberofgirls:50><g:20 V) =+5==x—=—
5 3 3 5 15
Number of boys =50-20=30 (vi) §+6=§x1=i
Exercise 2.4 19 | 1?5 6 57
' 4 5 4. Cost of 7— kg (— kg) apples =3 600
1. () 16—g—l6><Z 20 2 2 s
Cost of 1 kg apples =% 600+ —
(i) 14+%=14xg=&or16% 2
3 - —%600x 2 =% 80
(i) 21+==21x—-=49 15
7 3 5. Total quantity of rice bought in every
(iv) 4+§:4X§:§ orl 1 week =250 kg
3 8§ 2 2 Quantity that each student consumes per
W) ds2dog oy 520,49 K=k
5 5 11 11 week =5 k8
. 9 9 5
(vi) 12+5—=12+—=12x— Number of student =250 + =
9 9 49 2
108 .10 2
:7:2— :2 7:1
49 49 50><5 00
2. (i) g_l g 6=2x2=4 6. Required number =x
3 6 3 5 35
(if) 3 3 3 4 1 One number =5-="—
i) —+>="x—=—
8 4 8 3 2 1 10
1 3 7 3 7 5 35 I Product of these numbers =3—=—
(i) 2—-+==—+==—x=-="—"or3— 3
3 53 53 3 9 9 35 10
(iv) 51+6E:E+E:Exi:§ 6 3
2 5 2 5 2 31 62 10 35 10 6 4
X=—+—=—X —=—
3 6 3 35 7

‘86



7. Length of a rope:Slmzém Other number:ﬂ +E :ﬂxi
3 3 6 3 6 13
Number of pieces =5 s —Lor3t
Length of each piece=— + 5 2 2
235 MCQs
=? X 5 1. (b) 2. (b) 3. (a) 4. (b) 5. (c) 6. (b).
5 2 Mental Maths
=3 or 15 m
91 1. _—32.ﬁx80=643.l4.15.2
8. Product of two numbers = — 3 5 22 12
6 3x3_9_ 9 3. 2 1
1 13 . =—T7 —8 —x—=—
Onenumber:4§or? 7x3 21 17 4 3 2
3 Decimals
1. (1) 3.5x10=35 (Shifting decimal 3 place to the
(Shifting decimal 1 place to the right)
right) (xii) 2.61x1000=2610
(i) 1.33x10=13.3 (Shifting decimal 3 place to the
(Shifting decimal 1 place to the . right)
right) 2. (1) L.5x9
(i) 2.75x10=27.5 First we multiply 15 by 9
(Shifting decimal 1 place to the 15
right) x9
(iv) 2.01x10=20.1 135
(_Shlftmg decimal 1 place to the Now put decimal after 1place form
right) B right
) 8‘95 1,00_89(_) 1.5x9=13.5
(Shifting decimal 2 place to the (i) 1.3x7
right) First we multiply 13 by 7
(vi) 0.13x100=13 13
(Shifting decimal 2 place to the x7
right) 91
(vii) 0.2416x 100=24.16 N . .
td 11 place fi ht
(Shifting decimal 2 place to the owpt ) Zc):n;a: 9 Il) ace form g
right) 00225 13' '
(viii) 16.17x100=1617 o F.irst vz/(e multiply by 225 by 13
(Shifting decimal 2 place to the
right) 225
(ix) 2.31x1000=2310 x 13
(Shifting decimal 3 place to the 675
right) 2250
(x) 6.123x1000=6123 2925
(Shifting decimal 3 place to the )
right) Now put decimal after 2 places of
(Xl) 1.53x 1000=1530 form I'ight 0.225x13=2.925

37’



(iv)

v)

(vi)

(vii)

(viii)

g

2.57x 18

First we multiply 2.57x 18
257
x 18
2056

2570
4626

Now put decimal after 2 places

form right
2.57x 18=46.26

49.25x 25

First we multiply
4925% 25
4925
x 25
24625

98500
123125
Now put decimal after 2 places

form right
49.25x 25=1231.25

19.84 % 27

First multiply 1984 x 27
1984
x 27
13888

39680
53568

Now put decimal after 2 places
form right
79.84x 27=535.68
16.34x 79
1634
x 79
14706
14380
129086
Now put decimal after 2 places

form righ
1634x 79=1290.86

0.427x 235
First multiply 427 x 235

3.

427
x 235
2135
12810
85400
100345

Now put decimal after 3 places form right

(@)

(i)

(iii)

(iv)

0.427x 235=100.345
3.6x0.5

We multiply 36 by 5
36
x5
180

Sum of decimal places in given
decimals =1+ 1=2
3.6x05=1.80
1.2x1.2
We multiply 12 by 12
12
x 12
24
120
144

Sum of decimal places in given
decimals 1+1=2
1.2x1.2=1.44
0.13x 0.6
First we multiply 13 x 6
13

x 6

78
Sum of decimal places in given
decimal 2+ 1=3

0.13x 0.6=0.078

2.01x 1.1
We multiply 201 by 11

201

x 11

201

2010
2211

Sum of decimal places in given
decimal 2+1=3
2.01x 1.1=2.211
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V)

(vi)

(vii)

(viii)

(ix)

421x 7.25
First we multiply 421 by 725
421
x 725
2105

8420
294700
305225

Sum of decimal places in given
decimal 2+2=4
4.21x 7.25=30.5225
1223% 6.3
First we multiply 1223 by 63
1223
X 63
3669
73380
77049

Sum of decimal places in given
decimal 2+1=3
12.23% 6.3=77.049
12.24 x 6.5
First we multiply 1224 by 65
1224
X 65
6120
73440
795600

Sum of decimal places in given
decimal 2+1=3
12.24 x 6.5=79.560
13.63x 1.1
First we multiply 1363 byl 1
1363
x 11
1363
13630
14993

Sum of decimal places in given
decimal 2+1=3
13.63x 1.1=14.993
13.25x 1.5
First we multiply 1325 by 15
1325
x 15
6625

Mathematics—7 /4

x)

(xi)

(xii)

(xiii)

13250
19875

Sum of decimal places in given
decimal 2+ 1=3
13.25% 1.5=19.875
19.84 % 27.9
First we multiply 1984 by 279
1984
x 279
17856

138880
396800
553536

Sum decimal
decimal 2+1=3
19.84 x 27.9=553.536
0.235x 4.8
First we multiply 235 by 48
235
x 48
1880

9400
11280

Sum of decimal places in given
decimal 3+1=4
0.235x 4.8=1.1280
1.475x 2.112
First we multiply 1475 by 2112
1475
x212

2950

14750
147500
2950000
3152000

Sum of decimal places in given
decimal 3+3=6
1.475% 2.112=3.115200
114.2x 2.14
First we multiply 1142by 214
1142
x 214

4568

11420
228400
244388

places in given

o



¢

Sum of decimal places in given Sum of decimal places in decimals

decimal of 1+2=3 1+2+1=4
i) 3 15114~12>(<)027-14 =244.388 3.5% 1.15% 2.2 =8.8550
X1v . X 1.
First we multiply 3101 by 1007 (xviii) 67> 4.4 1.31
3101 First we multiply 67 x 44 x 131
x1007 2948 x 131
21707 2948
00000 x131
000000 2948
3101000 88440
3122707 294800
Sum of decimal places in given 386188
decimal 3+3=6 Sum of decimal places in decimals
3.101x 1.007 =3.122707 l+1+2=4
(xv) 0.427x23.5 6.7x4.4x1.31=38.6188
First we multiply 427 by 235 (xix) 0.04x 0.7x 0.02
427 First we multiply
Xﬁ;g 4% Tx2=28%2
238
12810 x 2
85400 56
100345 Sum of decimal places in decimals
Sum of decimal places in given 2+1+2=5
3383“1233*5 1 & 3 0345 0.04 % 0.7 0.02=0.00056
X =
NS : : - (xx) 2.3x6.8x5.4
(xvi) llslisi \INZ ?nil?ply First we multiply =23x 68x 54
13x 15x 27 =13 x 405 = 156454
1564
405
13 _x54
6256
1215 78200
4050 84456
5265 Sum of decimal places in decimals
Sum of decimal places in decimal 1+1+1=3
1+ 11+31 =135 275 265 2.3 x6.8x 5.4=84.456
. 3x1.5x2.7=5.
(xvii) 3.5% 1.15x 2.2 Exercise 3.2
First we multiply 1. (i) 34.19+10=3.419
35x115%22=(35%x 22)x 115 Shifting decimal to the left by 1
=770x 115 place.
770 (i) 9.69 + 10 =0.969
x 115 Shifting decimal to the left by 1
7700 (i) 56.192 +10=5.6192
77000 Shifting decimal to the left by 1
88550 place
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(iv)

V)

(vi)

(vii)

(viii)

(ix)

(x)

(xi)

(xii)

(xiii)

(xiv)

13.05+10=1.305
Shifting decimal to the
place

0.01 + 100 =0.0001
Shifting decimal to the
places

0.73 + 100 =0.0073
Shifting decimal to the
places

479.25 + 100 =4.7925
Shifting decimal to the
places

100.32 + 100 =1.0032
Shifting decimal to the
places

10.01 +100=0.01001
Shifting decimal to the
places

167.3 +1000=0.1673
Shifting decimal to the
places

0.76 + 1000 =0.00076
Shifting decimal to the
places

8754.5 + 1000 =8.7545
Shifting decimal to the
places

1.305 +9 =

9)1.305(1.45
=9
40
~36
45
—45
_ 0
1.305 = 1.45
188.4 + 60

60)188.4(3.14

—180
84
-60
240
—240
0

188.4 +60=3.14

Mathematics—7 /4

left by

left by

left by

left by

left by

left by

left by

left by

left by

2

(xv) 231.7+70

70)231.7(3.31
-210
217
-210
70
-70
0
s 231.7+70=331
(xvi) 49.6 + 80
80)49.6( 0.62
—480
160
~160
0

5 49.6+80=0.62

(i) 4.9+0.7
49x10_49 _
07x10 7

s 49+07=7

(i) 80+ 1.6
80x10 _800 _ .
1.6x10 10

. 80+1.6=50

(i) 5.45+0.25
545100 _ 545
0.25x100 25

25)545(21.8
-50
45
-25
200
—200
0
5 545+025=218
(iv) 9.69+1.9
9.69%10 96.9
1.9x10 19

19)96.9( 5.1
-95

9.69+19=5.1

"



¢

(v) 56.192+3.2
56.192x 10 _561.92

3.2x10 32

32)561.92(17.56
-32
241
—224

56.192+3.2=17.56

(vi) 289.6+ 6.4
289.6x10 2896

6.4x10 64

64 )2896( 45.25
-256
336
-320
160
~128
320
-320
_ 0
289.6 + 6.4 =45.25

(vii) 0.0102 +1.7
0.0102x10_ 0.102

1.7x10 17
17)0.102( 0.006
-102
0

0.0102 + 1.7 =0.006
(viii) 0.759 0.3
0.759x10 7.59
03x10 3

3)7.59(2.53
=6
15
-15
09
-9
0
0.759 + 0.3 =2.53

(ix) 25.395+1.5
25.395x10 253.95

1.5x10 15

15)253.95(16.93
-15
103
-90
139
-135
45
—45
0
25395+ 1.5=16.93
(x) 2.0484 +0.18
2.0484x 100 204.84

018x100 18

18)204.84(11.38
-18
24
-18
68
—54
144
—144
0
" 2.0484+0.18=11.38
(xi) 11.13+0.21
11.13x100 1113
0.21x100 21

21)1113( 53
~105
63
-63
0
11.13+0.21 =53
(xii) 236.6+0.26
236.6x100 23660
0.26x100 20

26)23660( 910
—234
260
—260
0
236.6 +0.26 =910
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(xiii)

()&V)

()

(xvi)

0.8085 +0.35
0.8085x 100  80.35

0.35%x100 35

35)80.85(2.31
-70
108
-105
35
-35
0

0.8085 +0.35=2.31
21.976 + 1.64
21.976x100 2197.6

1.64 x 100 164

164)2197.6(13.4
—164
557
—492
656
—656
0
21.976 + 1.64 =13.4
131.58 = 2.15
311.58x100 13158

2.15%x100 215

215)13158( 61.2

—1290
258
-215
430
—430
0
131.58 +2.15=61.2

0759+ 0.3
0.759x10 759

0.3x10 3

3)759(2.53
-6
15
-15
09
-9
0

0.759+0.3=2.53

Mathematics—7 /4

Exercise 3.3

1.

10.

11.

12.

13.

14.

15.

0.79m=79cm
(0.79 m=0.79 x 100 cm =79 cm)
(.1 m=100 cm)
4.165 mm =0.004165 m
(4165 mm = 4.165 + 1000 m =
0.004165) (.1 mm =1000m)
8.73kg=8730¢g
(8.73 kg =8.73x 1000 g =8730 g)
(.1 kg=1000 g)
725 mL =0.725 L
(725 mL =725+ 1000 mL =0.725 L)
(-.1 L=1000 mL)
15 L =15000 mL
(15 L=15x1000 mL =15000 mL)
(-.1 L =1000 mL)

50 km =5000000 cm

(50 km =50 x 100000 cm= 5000000 cm)
(.1 km =100000 cm)
4.7kg=4700 ¢
(4.7kg=4.7x1000g =4700 g)
(.1 kg =1000 g)
73 m =7300 cm
(73 m=73%x 100 cm =7300 cm)
(.1 m=100 cm)
3 220 mg=3020 mg
(3220 mg =(3 x 1000 + 20) mg
=3020mg) (..1 g =1000 mg)
0.35 m =350 mm
(0.35m=0.35x 1000 =350 mm)
(.1 m=1000 mm)
5m 60 cm =560 cm
(5m 60 cm =5x 100+ 60 cm =560 cm)
(.1 cm=100cm)
470 g=0.47 kg
(470 g =470 + 1000 kg =0.47 kg)
(.1 kg=1000 g)
0.75 km =750 m
(0.75 km =0.75 x 1000 =750 m)
(.1 km =1000m)
7843 g =7.843 kg
(7843 g=7843 + 1000 =7.843 kg)
(.1 kg=1000 g)
7kL =7000 L
(7 kL =7x 1000 =7000L)
(.1 kL =1000L)

)



Exercise 3.4

1.

¢

Cloth required for a shirt =2.7 m
Number of piece of cloth =40.5 m
Number of shirt =40.5 + 2.7
40.5x10 405
27x10 27
15 shirts can be made from a piece of
cloth 40.5 m.
Shubham’s monthly salary =% 5500
Annual salary =% (5500x 12) =% 66000

his monthly saving
=0.2 part of his salary
His annual saving =% 66000 x 0.2
=% 13200

1 m=39.37 inches
16 m=(39.37 x 16) inches
First 3937 multiply by 16

3937

x16_

23622

39370

62992

Now put decimal after 2 places form the
right (39.37 x 16) inches =629.92 inches

Number of steel chairs =15
Cost of 15 chairs =¥ 1706.25
Cost of 1 chair =% (1706.25 + 15)
15)1706.25( 113.75
=15
20
=15
56
—45
112
—105
75
=75
0
Cost of 1 chairis¥ 113.75
Cost of one orange =% 6.45
Cost of 12 oragnes =3 6.45 x 12
First we multiply 645 by 12

15

645

x 12

1290

6450

7740
Now put decimal after 2 places from
right.

(6.45x12)=% 77.40

Cost of 12 oranges is ¥ 77.40

. Product of two decimal numbers

=131.58
One number =2.15
Other number =131.58 ~2.15
131.58x100 13158

2.15x100 215

215)13158( 61.2

—1290
258
— 215
430
— 430
0
Thus required number is 61.2.

. Number of workers =44

Amount distributed = 4483.60
Money got by one worker
=3 (4483.60 ~ 44)

44)4483.60( 101.9
—44
83
—44
396
~396
0
One worker got ¥ 101.9.

. Cost of 1 metre cloth =¥ 62.85

Cost of 23 m metre cloth =¥ 62.85 x 23
First we multiple 6285 x 23

6285
x 23
18855
125700
144555
Now put decimal after 2 place from the
right
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10.

11.

4

(62.85x23) =% 1445.55
Cost of 23 m cloth is T 1445.55.
Height of pile of books =54.4 cm
Thickness of each book =3.2 cm
Number of books in the pile =54.4 + 32
544 544x10 544

32 32x10 32
32)544(17
=32
224
—224
0
17 books are there in the pile.
Number of cement bags =73
weight of 73 cement bags =4106.25 kg
4106.25
73
=56.25kg
Weight of 100 cement bags
= 56.25x 100
=5625 kg
Distance between Delhi and Roorkee
=180km

Time taken by bus =4.5 hrs.
Distance

weight of 1 cement bags =

Speed =
P Time

Exercise-4.1

1.

2.

3.

Negative rational number are

ENPE
4 7
Positive rational numbers are
-5 37
-8753’
. 12 12x-1 12
() —S=-—r— =
-17 —-17x-1 17
| Ix -1 1
i) —= =——
(i) -2 —2x-1 2
(iii) -8 :—8><—1 :ﬁ
-19 —-19x-1 19
(iv) ﬂ_ 11x -1 11

6 —6x-1_ 6

Mathematics—7 /4

180

4.5
=40km/hr
If distance = 280km
speed =40 km/hr
. Distance
Time =

Speed
_280 o
40

12. Number of boys
=0.8 part of strength of school
Number of girl 0.2 part of strength of
school =150

Number of girls 0.1 part of strength of

school = @ =750
0.2

Number of boys 0.8 part of strength of
school =750x 0.8 =600
Thus, 600 boys in the school.

MCQs
1. (a) 2. (b) 3. (2) 4. (c) 5. (b) 6. (d) 7. (a) 8. ()

Mental Maths

1. 0.4 2. 8500 3. 25 4. 0.63 5. 0.9 6. 2.8435 7.
0.1 8.5.6789.125010. 011.0

Rational Numbers

. 3

4. (1) —=

@ g
Five rational numbers equivalent to —%

are
3x2 | 6| 3x3 | 9
8x 2 16 8x3 24

x4 [ 12
8x4 | 32
3x5_[15] 3x6_| 18

“8x5 | 40 8x6 | 48
4
11 _—
(ii) s

)



¢

Five rational numbers equivalent

4
to —— are
15
_4x2__§ _4><3__E
15x2 | 30 15x3 | 45/
_4><4__L6
15x 4 60
_4><5__@ _4><6__ﬁ
15x5 | 75 15x6 | 90
2
i) —=
(iii) 5
Five rational numbers equivalent to
—gare
_2><2__i _2><3__£
9x2 | 18] 9x3 | 27
_2><4_;
9% 4 36
_2><5__£ —2><6__£
9x5 | 45 9x6 54
(iv) -1
Five rational numbers equivalent to
—1 are
223 3]
2 3
_1><4__ﬂ
4 4
_1><§__§’_1)<§__§
5 6 6
. 2
1 _——
(1) 3
we need numerator 6
—2x—3_76
3x-3 -9
.. 2
i) —=
(i1) 3
we need denominator 12
—2><4__§
3x 4 12

o —2
(ii1) 5 we need numerator — 8

-2 4 -8
- X — =
3 4 12
(iv) —% we need denominator — 30
-2x-10 20
3x—-10 =30

— 64

36
- 64
36
we need numerator as 16
-64+-4 16
36+-4 -9
- 64
36
we need 9 as denominator
-64+4 -16
36-4 9
64
36
we need — 32 as numerator
-64+2 -32
36+2 18
- 64
36
we need — 18 as denominator
-64+-2 32
36+-2 —18
8
-36
HCEF of 8 and 36 is 4.
8+4 _ 72 (standard form)
-36+4 -9
35
49
HCF of 35 and 49 is 7.
35+7_5 (standard form)

(i)

(iif)

(iv)

(M)

(i)

49+7 7
91
-78
HCF of 91 and 78 is 13.

91+13 _ 7 (standard form)
-78+13 -6

(iii)
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8.

. - 87
iv) —
) 116
HCF of 87 and 116 is 29.
—87+29 -3 (standard form)
116+ 29 4
. 4 ... 12
1 - = =__
@ 9 18 ...

9 is multiplied by 2 to get 18.
— 4 should be multiplied by 2.
—4x2=-8

. —4 is multiplied by — 3 to get 12.
9 should be multiplied by — 3.

_4_-8_ 12

9 18 =27

. 3 -12 24
i) — =——=—
®) -8

3 is multiplied by — 4 to get — 12.
— 8 should be multiplied by —4.
—-8x—-4=32
3 is multiplied by 8 to get 24.
— 8 should be multiplied by 8.
—8x 8=-64
3 -12 24
-8 32 -64
(i) =& 23 e
3 is multiplied by -2 to get — 6.
11 should be multiplied by — 2.
11x—-2==-22
11 is multiplied by — 5 to get — 55.
3 should be multiplied by — 5.
3x-5=-15
-6 3 -15
-22 11 -55
3 -6

— 6 is divided by — 2 to get 3.
— 4 should be divided by — 2.
—4+-2=2

— 4 is multiplied by — 5 to get 20.
— 6 should be multiplied by — 5.

— 6% —5=30
3_-6_3
2 -4 20

Mathematics—7 /4

. 3 4
9. (i) 572
—3x4=2x A4
by cross multiplication
_3x4 4

S
@ 5 =25
3x—-25=5x 4
by cross multiplicatioin
-3x25
=4
5
-3x5=4
-15=4
13 65
6 4
I13x A =65%x6
by cross multiplication

5
5% 6

(iii)

(iv)

12=-3%x A4
by cross multiplication

)

7714721728 35’
Exercise-4.2

42




'}::::7%}:::4#/7::}::::::}
(i) ——
(i) 3 0 1 2
=173
/llllllllllllllll
\||T|||||||||||||
@) 2 o1 2
5
11/5
et
V —_——
EA 1 2 3
-5/3
S I S I A | |
|.|||1'|'||||| | |
@1)—223 1 o 1 2
L
3
el g e by
\||T||||||||||
302 -1 0 I
vi) —
(vii) =

PRI D !
3 3 3 3
. 2 7 8 13
(1) S RNE R R
5 10 15 30
LCM of 5, 10, 15,30 =30
2%x6,7x3,8x2,13x 1
30
12,21,16,13
30
2 13 8 7
Z < = — _
5 30 IS5 10
(ii) _3,75 -7_9
412" 16" 24
3 5 7 9
or T R T R
4 12 16 24
LCM of 4, 12, 16 and 24 is 48.
—3x12,-5x4,-7x3,-9x2
48
-36,-20,—-21,-18
48
3 7 5 9
-, — < —
4 16 —-12 -24
["=36<-21<-20<—1§]
3 7 11 17
(111) N T RN R
10 —15 20 -30
3 7 11 17
or P PN N
10 15 20 30
LCM of 10, 15, 20, 30 is 60.
—3x6,—-7x4,—11x3,—-17x2
60
—18,-28,-33,-34
60
17 11 7 3
— < — <— < ——
-30 20 -15 10
["—34<-33<-28<-1§]
.. 23 5 7 23 =5 =7
(IV) Ty, O —, — ——, ———
34 -6 12 3 4 6 12

LCM of 3,4, 6 and 12 is 12.
_2x4,3x3,-5x2,-12x1

12
8,9,-10,-12
10
7 2 3
K —— <<=
- 2 3 4
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(i)

(iii)

(iv)

2 7 -1
57-10° 157 -30
2 7 11 19

>

LCM of 5, 10, 15, 30 is 30.
—-2x6,-7x3,—-11x2,-19x 1

30
-12,-21,-22,-19

30

Descending order is
2 19 7 11
= > — > — > -—
5 =13 -10 15
[ —12>-19>-21>-22]
13 8 1

6 -3'3

]

LCMof'1, 6,3 is 6.
—-2%x6,—13x1,—8x2,1x2

6

—12,-13,-16,2
6

Descending order is
1 138
—>-2>-—=>—

6 -3
[ 2>-12>-13>-16]
4 s T2
9°-12" 18'-3
4.5 1 2

9" 127 18" 3
LCM of 9, 12, 18 and 3 is 36.
—4x4,-5x3,-7x2,-2x12
36
-16,-15,-14,-24
36
Descending order is
7 5 4 2
[ — > JR—— J—
18

“12 97 -3
[v =14 > —15 > —16 > —24]
17 11 7 3
~30°-15" 10’5
171173
300 157 1075
LCM of 30, 15,10, 5 is 30.

Mathematics—7 /4

6.

(M)

(i)

(iii)

(iv)

)

(M)

“17x1,—11x2,-7x 3,3 6

30
~17,-22,-21,18
30

Descending order is
17 7 11
> >

3
— > R— -
57 -30 10 -15
[+ 18 > —17 > -21 > —22]
33
7’7
3 3
— > —_——
7 7

Positive rational number > than
negative rational number

11
-—<0
15
zero is greater than negative

rational number.
4 7

9

8

9
4
-— >
9
3
-8’
3
8 12
LCM of 8,12 =24

—3x3,-8x2

24
9,16

24
¢ =9> —-16)

-2 5

—3711

25

3711

LCMof 3 and 11 is 33.

4



-2 5
- > — (...
-3 11
. 7 5
i) ——,—-=
®) 129
—7x9, —5x 12 cross multiply
—-63,-60

22>15)

-63<-60
13

i) ——,-3

(ii) s

—13x 1,— 3 x Scross multiply
-13,-15
13

> -3 -13 > -15

. 5 4

v) —=,——

(iv) s
—5x5,—4x 6 cross multiply
—25,-24

5<—% v =25< =24

6
7. (i) False (ii) True (iii) False (iv) True

i) — <o

- 3x8,5x5
24 < 25
2 8

3

(iii) 2

12
Positive > Negative

3 s

v) —= > -

) 4 6
-3x6,-5x4

-18 >-20
3 6

77 -3
o —=3x13,-6%x7
-39 > —-42

. 13
vi) -2 > ——
(vi) s

V)

-2x5-13x1
-10 > —13

. 2 5
vil) —= < =
(vii) 3

8
‘ 100

—-2x8,-5x3
16 < 15

(vill) 0 < >

Positive rational number is

(i) 25 -2

97 10

—8x10,—-9%x9

-80 > -8

Exercise-4.3

(iii)

., 10
v) —+—
) 13 13

_10-1_ 9
13 13

191

V) ——+—
® 17 17

1

1941

17

1 =17
_t —
15 15
_1-17
15
_ 16
15
N 207

2. ) ——+—
(1) st

(vi)

8
9

greater than zero

(cross multiply)

18

17

_—2><4+7><5

20

_—8+35

20

_27_
20

1-—
20
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L5 =3
i) =+ —
W5
_3x 1+ =3x2

(iii)

33

5 (18

v) ——+|-—
T ( 5)
—3x5-18x18

90

80 80

= (iv)

4 9
V) —+—
™) 9 4
_4x4+9x9
36
_16+81_97
36 36
4
-+
5

' > ™)
vl) — =
(vi) 1
—Ax4+5x5
20

164259

20 20
1 -5 -2
—t
9 6 3
1x2-5x3-2x6
18
_2-15-12 (vi)
18
_2=27
18
=25

18

(i) —4+13+(_7)
5 10 15

4 13 7

7+7_7

5 10 15

_—4x6+13x3-7x2 4. @)

30

Mathematics—7 /4

-24+39-14

30
384391

30 30
32 1
-+ S+ —

4 5 20
3% 5+2x4+1x1
20

20
_—15+9
20
6 -3
——or—

20 10
3 -8 1
S+ —+—

5 5 10
C3x2-8x2+1x1
10

_6-16+1

10
_7-16_-9
10 10
2 5 -4
-+ T4+ —
5 7 35
_ —2xT7+5x5-4x1

35
Zl4+25-4

35
25-18
35

_4x8+Tx9-5x 8

72

72
95-40
72
SRR
72

Additive inverse of % =—=

1
2

101’



(11) " " _
(111) " "
(IV) " "

5. (i) Weto find

_—2x8+3x1
B E—
-l6+3 13

8 8
(i) We have to find

(8

=2+E

_2xT7+15x1
R —
_14+15 29
77
(iii)) We have to find,

=

17
(iv) We have to find

3
=9

-3+25_22
5 5
(v) We have to find,

13
8 8
5
J’_f
8
5

_7
8
T+
8

‘ 102

3 _12_3
2 8 2
0 (vi) We have to find
13 __3_£_24j
17 5 15
3 24
_7+7
5 15
_ —3x3+24x1
15
_—9+24_E_l
15 15
(vii) We have to find,

0

—-3x8+5x7
56
-24+35 11
56 56

(viii) We have to find
-1
3
__37
8
il
8
(ix) We have to find
__‘7_(_9)
22 11
7 9
_7_1’_7
22 11
_=Tx1+9x2
22
_—T7+18
22

AN =
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12
1

o, 2-(11). (3.0
4 (2 3 4 2) 3

L5 11
1 —_———
@ 9 13
_5x13-11x9
117
_65-99 -34
117 117
.. 11 5
i) ——=
(@) 13 9
_11x9-5x13
117
_99-65
117
o
117
5 11 11 5
T F =
9 13 13 9

8. Let 4 should be added

-13
— 4
=

_3J+A:1
8

(22-3),
8

29
-+
8

A

A

Mathematics—7 /4

A=1

:1+22
8

_8+29
8

10.

11.

_37
8

A

-13

", 37 should be added to] —— +| —
8 4

to get 1.
We have to do

{33 —19} [—36 49}
8 4 11 22

8
(33-38) (72479
_( 8 j_( 2 )
:5_(Zﬂ:5+23
8 22 8 22
—5x11+23x4

88
-55+92
88
_37
88
Let 4 should be subtracted

S
4

-3.5_
4 6
—3x3-5x2
12
-9-10
12
;19:14
12
Let A should be added
_—7+A=3
9

A:3+Z
9

22

n avlw

A

A

_3x9+7x1

9
27+

9
_ 34

9

A

A

A

_[33x1—19x2}{—36x2+49x1}

3—94 should be added to _—; to get 3.
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1
12. A butterfly flies to n01‘th=2E km orE -7 &
4 4 V) —x—"
km 30 -11
, 2 5 .
A butterfly flies to south :13 km or 3 1
km 5x11
Dist int fP—23 12 :l
istance point of P = 25 35
3
11 5 . -7
= (Vl) —%Xi
4 3 s
:33—20:1730“71. =-3x-7
12 12 12 =21
Exercise-4.4 (i) —Lx 2
~15° 2%
11 4
LG Lk Rty
»1156 4 15% 4
3
C1x11 ’
5x 4 12
121 —
= (viii) —lxj
20 22
) ;
20 :ng/
4 5
(i) =x M 2
3
;] =2
_8x4 2_5
T3 (ix) —l6x —
1 48
:?:107 16° 5
= X —
iy 25?7 5
8 ==
34 3
_ Ix1 2. (i) We have to find,
3x 4 6.3
1 7 14
12 2
-10 M 0
(iv) — F =3
—4
5 2
T 1 _—,6/><2
= Z
1
“ =—2x2=—4
5 21 (ii) We have to find,
T o -4 =2

55
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3.

(iii) We have to find,
-8 3

9 -4
~8 -4

= — X ——

9 3
_32

27

27

(i) We have to find,
4 2

_7><7
7 3
__ 8
21
(il)) We have to find,
12
2 60
_7><7
& 17
_2x12
17
24 7

— 7:_17

177
(iii) We have to find,

iéx“%

9

:éx—4
9

_20_ 52
9 9

(iv) We have to find,

2

:zx—3
2

7 (=36
o

-2l

2
(v) We have to find,
8

:igx 17
a4

37

Mathematics—7 /4

2

_—8x17
37
_136_ 2

37 37
(vi) We have to find,
3
B
5 28
4
_-1x3 -3
Ix 4 4
(vii) We have to find,

K 22
=( /IW/)X%/I’

(viii)) We h%ve to3ﬁnd,

778
15

56
(ix) We have to find,
5 2
=2 X (-5
18

3
5x-1_-5

303
— 12

3
(x) We have to find,

-5 8
7><7
16 15
=A%
2x )8
3
_-1
6
(xi) We have to find,
5 3
_7)(7
16 20
4
a 1x3 __i
16x 4 64
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xii) We have to find, 2 4 5 7
(i) a6 20| 15 -
2 3 - o A
_EX_%_KX_Z 5 8 S F
M40 1x40 —2x4) (-5x-7
20 = +
_~6_-3 1x 1 Ix 1
20 10 =—8+(+35)
4. (i) Reciprocalof—éz—2 =—-8+35=27
2 -3 (iv) We have,
(i1) Reciprocal of—ﬂ:—5 ixi + éxj
5 -4 2 2) (2 2
(iii) Reciprocal of —1=—1 1 (-9
— __7+ J—
| 4 4
(iv) Reciprocal 0f1—0=10 ~1-9 —10
5 -6 T4 4
v) Reciprocal of — =—
(v) Reeip —6 s _ T ,!
(vi) Reciprocal of 1=1 2 2
5. (i) We have, (v) We have,
-16_3). 1 -3 _4) (9_-10 (1 3)
x|+ X = | Ex— || =x =
7 9) 2 2 5 5 3 2 4
_—16+1 2 3 2
T 21 2 _| T3 A 2 10 _(1X3)
2 5 5 | \2 4

—l6x2+21 -32+21

42 42 —3x2 3x-2) (3
~11 = + |3
- 1x 5 1x1 8

y __6. 63
(i1) We have, 51 3%
(15 2)+ 3 (10 _—6x8-6x40-3x5
8 5) |5 9 40
3 1 2 _ —48-240-15
RPN AN B 40
= x|+ = x| ==
8 A 5| 9 —303 23
4 1 3 = -7
40 40
=3J{1x_2}=3_2 (vi) We have,
4 1x3 4 3 éxg ~ éx;lo
_3x3-2x4 8 s) (5 9
12 5 1 2
9-8 1 |2, 2| |3,
12 12 8 & ¥

“ 5
(iii) We have, !
[_wxzo)_,_[lsx_%j :(SXIJ [IX—J
58 5 3 axl
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5 2 -
==+= 7. () i+—1=—5
4 3 19 19
S5x3+2x4 - -
1 R
12 12 12 4 4
6. (i) We have, (iv) -33 33
- _ v) —+-1==—
-28 -3 22 22
27 9 8. We have to find,
Gt B Ey
237 =5 12 3) (12 3
_—28 _(65x1+8x4j;[65x1—8x4j
s 12 12
:§:19 [ 65+32 . 65-32
15 15 L2 )l 2
(i) We have, 97 33 97 12
-8) 2 T 12 s
(j; 12 12 12 33
35) 3 _97_231
) _2l_n>
33 33
- 3
:7’85/ x/} 9. We have to find,
1 13+—12 R —31>< 1
:—4X3:;u ? 77 . 77 —72
35x1 35 (13xT7-12x5) (31
(iii) We have, 35 ) lia
8+[_5j _(91—60)){14
9 6 35 31
2 2
8, A M M2
= =— X — =—
/?’ -5 35 31 5
_ 8x2 445
T 3x-5 10. Let—;is divided by 4
__le_ b LM,
15 15 . R
(iv) We have, 44 1 -11
36, (=9 BV
5 | 4 4
4 —gxi=z‘l
_6, 4 g -
50—y 3 A
4x 4 —=4
= 3
PR - =™ should be divided by % o get — 1!
=< =3 T V3R
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11. Let—-> should be multiplied by 4. 20
15 -16
= d=24 40
15 -32
3 80
g 213 ~80
_/glg/ »
JEELES L 203125
-1 16 19
—_45 (iv) We have, o
—1—85 should be multiplied by — 45 to 3.16.....
get 24. 63 112
Exercise-4.5 10
1. (i) We have, =6 __
3 40
5 -36
0.6 40 ......
5) 30 Bz
~30 6 g
X v) We hawe,g
3 2.6
2206 .0...
5 3) 8
(il)) We have, -6
5 20
g —18
2.
0.625 g
8W S ==2.6
=48 (vi) We have, 22
20 7
-16 2.142857....
20 7) 22
-32 -21
80 10
- 80 -7
X 30
5 -28
3 =0.625 0
5 —14
(iii)  We have, T 60
-56
0.3125 a0
w6Y 50 A0
6) 50 9
—48 7:3.142857
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(vil)) We have, %
0.27....
11) 30
-22
80
-77
30

(viii)) We have, g

0.83...
6) 50
48
20
~18
2

2083
6

(ix) We have, 1—;)

3.3..
3}??7
-9
10
-9
1

(x) We have, 1—76

2.285714
7) 16
~14
20
~14
60
- 56

40
- 35

59
—49

Mathematics—7 /4

(i)

(i)

(1i1)

(iv)

10
=7
30
-28

2 ..
1—76 =2.285714.....

We have, —%

5)20(0.4
20
X

=2 __0a
5

We have, -1
3
3.6....

3)11
=9
20
-18
2

LN
3

We have, — 1—57

3.4
-15
20
-20

X

O34
4

Wehave,—B
6
3.16....
6)19
- 18
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(v) We have —1—;
1.625

8W
18
50
48
20
16

40
40

X

B 625
8

(vi) We have, —%
1.25
45

-4

10
-8
20
-20

X

BRI
4

(vil) We have, —1—25

7.5
2) 15
~14

10
~10

X

o=

(viii) We have, —1—56

3.2
—-15
10

~10

X

=715

.
s
(ix) We have,—%

-3.2

0.428571
7Y 30
-28
20
~14
60
-56
40
~35
50
—49
10
-7

3

3 0.28571
7

(x) We have, —1—63

2.16
6W
12
10
-6
40
-36
40
B o6
6

(i) We have, 361
25

Making prime factors of

denominator
3761 _ 361

25 5x5

" % is terminating decimal because

its denominator has prime factors

only 5.

(i1)) We have, 1000

Making prime factors of

denominator

A\ Mathematics—7



1000

(iii)

" 2x7

(vi)

1000 1000
27  3x3x3

its non-terminating decimal

because its denominator has prime
factor other than 2 or 5.

We have,ﬂ
14

Making prime factor of

denominator
37_ 37
14 2x7

is non-terminating decimal

because its denominator has prime-
factors other than 2 or 5.
116
75
Making prime factors of
denominator
116 _ 116
75 3x5x5
116

. s is non-terminating decimal

V)

because its denominator has prime
factors other than 2 or 5.

We have, 127
32

Making prime factors of 32.
127 127

5_25

. % is terminating decimal because

(vi)

its denominator has prime factor

only 2.

We have, 961
625

Making prime factors of

denominator
961_ 961
625 54

961 . o .
s terminating decimal because

5
its denominator has prime factors
only 5.

Mathematics—7 /4

4.

(vii) We have, 217
143

Make prime factors of denominator

217 _ 217
143 13x11

" 217 is non-terminating decimal
143

because its denominator has prime

factors other than 2 or 5.
113

(viii) We have, —
90

Making prime factors of denominator

g_ 113
90 5x2x3x3

o113

90
because its denominator has prime
factor other than 2 or 5.

(i) We have, 29
30

is non-terminating decimal

Making prime factors of denominator

S29_ 29
" 30 2x3x5
29

— s
30
because its denominator has prime

factor other than 2 or 5.

(ii)) We have, 305
108

non-triminating decimal

Making prime factors of denominator

305
2x2x3%x3x3
" % is non terminating decimal

because its denominator has prime
factors other than 2 or 5.

L 27
i) —
( )22
Making prime factors of denominator

it is non-terminating decimal.

Toax11

(iv) We have, 37
256

Making prime factors of denominator
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371 Exercise-4.6
2X2X2X2x2x2x2x%x2

1. Let other rational number be x

% is terminating decimal because -4 +x=-5
its denominator has prime factors 4
only 2. x==5+—
57 3
(v) Wehave, — -5x3+4
625 x= 3
Making prime factors of denomin-
-15+4
ator xX=
57 57 3
625 5x 5% 5x5 B

" ST is terminating decimal because
625

. . =11
. . . other rational number is ——.
its denominator has prime factors 3

only 5. 613 2. Letxshould be added
(vi) We have, 3 5
2000 3T
Making prime factors of denomin- o 5 .\ 3
ator 613 128
x_5>< 2+3x3 10+9
26><132><2x2><5><5><5 2 2
is terminating decimal because Y= 19
2000 . 24
its denominator has prime factors 29 _3 5
only 2 and 5. .. — should added to — to get —.
(vi) Weh 131 24 8 12
Vi e ave g 3. Letxshould be subtracted
Making prime factors of denomin- ) 2 -5
ator " 3 7 6
131 _ 131 2 . 5 »
13361 2x2%x3%x3 376
" e is non-terminating because its —2x2+5x1 .
denominator has factor other than 2 4 6
-4+5
or 5. p =X
(viii) We have, 103 1
125 = x==
Making prime factors of denomin- 6
?E%r 103 é should be subtracted from—% to
125 5x5x5 5
get —.
12

" % is terminating decimal because

4. Number of bags =12
its denominator has prime factors 1
only 5. P Cost of 12 bags =% 2055

5. (i) False (ii) False (iii) False (iv) True 411

:?7
2
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411 19 12

Cost of 1 bag =% — +12 Zyx=—-"=
2 15 15
411 1 12 19
ziixi X=————
2 12 15 15
LTI (o129
24 8 15
Costoflbagis?]—woriﬂl. x:_—31 or x:—21
8 8 15 5
5. Let other rational number = x _21 should be added to g+§ to get
4 -16 5 3 5
) 12
16 4 15
x__ET _5 9. Let xshould be added
4 g 1+l+—1 +x=4
_ 16 3 _16x3 Tol2 305
9 4 ng’ (15+10+6]+x:4
1 30
x=— = x=1-
3 2+x:4
. 1 30
other rational number is lg. A 31
g o 30
6. Let?shouldbe multiplied by x 120=31 89
x= -7
-8 -32 30 30
5 35 or x= @
T 0
35 5 - 222 should be added to (1+1+1)
-32 5 4 30 3 2 5
35 g 7 to get 4.
7. Product of two rational numbers =0 10. LethhO; ldzb © sbtracteld
Onenumber:z ' (4_3j_ :_g
Other number = x (3X3_2X4)_x:_1
7 12 6
xx—=0
8 (H)_x__l
x:z+0 12 6
g L1
xX= ——Xx=—=
Thus required number is 0. 12 1 6
8. Let x should be added —+-—=x
EJFE +x__E 1121 g
5 15 TIxs
(2><5+3><3j+x__12 1122 3
15 15 Ly o 2y
(10+9j 12 12 12
tx=- x=l
15 15 4
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. i should be subtracted from (3—2j
4 4 3

1
to get ——.
g 6

MCQs

1. (a) 2. (b) 3. (a) 4. (c) 5. (a) 6. (b) 7. (c) 8. (a)
Mental Maths

1. We can multiply é with 6.25 to get a

whole. So, 6% ; é will make a whole.

5

Exercise-5.1

1. ()
(ii)
(iii)
(iv)
2. (i)
(i1)

(iii)
(iv)

V)
(vi)

(vii)
3. ()

(ii)
(iii)
(iv)

()

(i1)
(iii)
(iv)

‘ 114

372 =37x 37=1369

(—23)? =—23x —23=529

17> =17x 17=289

(—18)> =—18x —18=324

TxTx7=(7)3

(-2)x(2)x(2)xaxaxb
=(-2)3a%b

(=3)x (-3)xbx bx b=(-3)*b>

axaxaxaxbxbxcxexd
—a*b*ctd

2><2><2><b><c><c><b:(2)3c2b

(=3)x(=3)x(=3)x px pxq
=(-3)*p*q

(=) x (=) x (=x)x yx yx z
=(-x)*y’z

123 =12x 12x 12=1728

(-15)% =—15x —15x —15=—3375

(1000)*> =1000x 1000x 1000

=1000000000
(=11 =—11x —11x - 11=—-1331

base exponent
6> 6 5
(-3)8 -3 8
-HP -1 15
(25)° 25 5

. Yes, we change the mixed form of a

number to improper fraction.

. %of30 days:%x 30=15 days

. No, a proper fraction cannot be written

as mixed numbers.

. Capacity of bucket =20L

Milk in it=§>< 20L=12L

Thus, 12 L milk in the bucket.

Exponents
(v) 3% 3 8
(vi) (-24)° 24 5

(i) 15 =15x15=225

(ii) (50)° =50x 50 50=125000

(iii) (=7)° ==7x—Tx—7=-343

(iv) (=9)° =—9x —9x -9=—-729

(v) (=3)7 ==3x-3x-3x-3x-3
x —3x —3=-2187

i) (-1)® =-1 (.63 is odd number)

(vii) (- =1
1100 _y

(.- 84 is even number)
(viii)
(ix) (—41)% =—41x —41
=1681
(x) (100)* =100x 100x 100
=1000000

6. We have to prove

(i) (-2)*x(-2)° =(-2)’
LHS=(-2x—-2x-2x-2)
X (—2x—-2x-2)
=(-2)
=RHS
vt x (=2} =(-2)
(i) 47 +42 =43
47
e
_4Axdx4dx4xdxdx4
- 4x 4

LHS
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=4x4x4x4x%x4 ==1Ix(2x-2x-2x -2
=(4)5 =RHS ><—2><—2)><(—3><—3><—3)

47 242 _45 i1—712x8(64)x (-27)

(i) We have to prove ) -

LHS = (-2)° x (-2)’ i 3 X3X3X3:(3)4
=(=2x=2x=2)x (=2)x (=2) 4 4 4 4 \4
=—2x—2x-2x—2x -2 (ii)( 2}( 2}( 2)
=(-2)° =RHS 7) U7

Hence proved o 2 o 2
(iv) We hsave to pr(3)ve ) 7 7
(=3)" = (=3)" =(=3) ( st
—_ 5 il
tus  =! 3)3 7
(-3) iy (= )LL) 22
_ =3x-3x-3x-3x-3 (ii1) 9 8 9 8 9 8 9
-3x-3x-3 n
=-3x-3 z(_gj
=(-3)* =RHS . 13) ( 13\ ( 13)_( 13
(v) | —— |x|——|x| —— |[x| =——
Hence proved 6 6 6 6
7. (i) (= 3)should be raised to power 3 to 1 13 13 13
X| —— |X| —— |[X| =—— |X| ——

oget=27 . ( 6)( 6)( 6j( 6)

(i1) (—2)should be raised to power 4 to 8
get 16 :(_13)

8. (i) True (ii) False (iii) True (iv) True (v) 6
True 5 [6) 6,66
9. (i) 2° x3* - O3] 75575
=(2x2x2)x (3x3x3x3) _6><6><6_ﬁ
=8x 81=648 5x5x5 125

s 28 x 3% 648 s s s s

0 (23)3 x (—5)2 () -2 ==2x-2x-2

(i) (=3)" x(=5) 7 7 7 7
=(-3x-3x-3)x(-=5x-=5) 3% —-5x-5
=—27%x25=-675 R —

(i) (~12)% x (-3)° 1;§7X7
=(—12x—12)x (-3x=3x-=3) =——
=144 x —27=—3888 5 343

(i) D x ("7 x (=D (i) (_7) __ 17
=Ix—1x—-1=1 3 37 ;

V) (=3)° x(-2)° _ o779
=(-3x-3x-3x-3x-3) A 3x3 9

X(_ZX—ZX—z) (IV) (_2J :_Ex_%x_gx_g

=(=243)x(=8) 3 33 3 3
=+1944 _=2x=2x-2x-2 16
() DM x (=2)° x (=3)° T 3x3x3x3 8l
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V)

(vi)

(i)

(iii)

(iv)

V)

(vi)

(@)

(i)

3
(Zj 2,22 (iif)
5 5 5 5
_2><2><2_i
S5x5x5 125
-
5
33,383,333 5. ()
5 5 5 5 5
 =3x=3x-3x-3x-3
5x5x5x5x%x5 (i)
__ 243
3125 (iii)
@_w7{7f
144 12x12 12 :
3 (iv)
_1_—1X—1X—1_[_1j
216 6x 6x 6 6
5 (v)
27 _3x 3><3_(3)
125 5x5x5 5 .
(vi)
_64_—4“‘“—4_(_4j3
729 9% 9% 9 9 ..
(vii)
_ 8 _Z2x-2x-2 (_2)3
27 3x3x3 3
3 (viii)
64_4><4><4_(4]
125 5x5x5 \5 6.
4
2 25 .
_—— Xi
( 5] 16 ®
HESI
=| — X | —
5 4
_2><2><2><2X5><5_ 1
S5x5x5%x5 4x4 5x5
4 2
2 25) (1 )
_g x T6 = g (i)
B
J— X —
3 8
IRIR2RZ x-S
(iii)

BB AIRF xu;

—Ix—l _(1)2
4 2

{080

¥=o2 y= (given)
N x_ 9 -2
SRS
3 2
2
3.3 9
-2 -2 4

_=2x-2x=2 8

3x3x3 27
X y_ 23_—2><—2><—2
[yj () s
8
27
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:(l _ljx 123
27 27

—2x-2 4 =0x123 =0
C3x3 9 3V (15
4 3 (v) (j X() +32
. (.)( 5] ( lj 5 3
i) |—=| x|—-=
5 5 5 5 C3x3 18x18| 1
= —— X —— X —— X —— = X )(—2
37 37 3 3 %5 3x3 | 3
X( 1X 1X lj
T T T, =3% ¥x =1
625 | P I3
= — 2 2
(S5 {(3) (1) }3
5 3
( 5)4 ( 1)3 ~ 625
S (L) I
: . 648 (vi) (43—52)><(j
3 2
(ii) 2V A 2% 2% 2
3 -3 —(Ax4x4-5x5)x ¥
2 2 2 4 4 3x3%3
:(‘3X‘3X‘3jx(_3x_3j :(64—25)x§
27
=(_8)X[16j 4 8 104
27) \9 U 9
3 2 9
: (_2 o A 128 N 104
- 3 -3 243 (43—52)x(j -
4 3 5 9
(iii) (1) +(1j x 10° 8. We have to find
2 2 s 1 4
-2 5[~
{ Lo, }105 |
2x2x2x2 2x2x2 =—2><—2><—2><—2><—2><—g
=u+ﬂx100000 1T 1
16" 8] VUL IV SV |
57 5 5
=(1+2jx 100000 __32
16 625
3 6250 9. We have to find
- 3
16" (4) -3
=3x 6250 5 8
=18750 A A& —-3x-3x-3
1 4 1 3 :gxgxﬁ
(J +(2j x 10° =18750 2X§X
-271 27

(iv) (1)3 _(1]3 123 T25x32 800
3) 3
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10. We have to find,

7V s
= — 2
(2] 3

Ix7 5 35
X —_

-8x-8 7 64
Exercise-5.3

L0 [—if (- if =(_i)3+2

Il
TN
o | L
~—

[\S)

Il

ENYINSY

@) [=5)4] = (=53 =(=5)2
(i) [ * =7
:(—7)4X2 X (_7)3 x2
=7 x(=7)°
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=(_ 7)8+ 6 =(_ 7)14 (n) (3)0 . [3J2 § (3j3
(D1 <[P =D 5 5

5
0+2+3 5
(i) (23)2 x (25)% =23%2 x 253 =(3] =(3) _ 2
26, 915 5 2 3125
6+ 15 _ 521 1 1 1y
=2 =2 (i) | —=|x|—=| x|—=
o 2 2 2

W@ T
T eEee

20 1 1 1
2 X - =
- j —15 x (=5

8 5 =5
i) [(4)3} :(4)3 8 :(4)24 s X
5 5 5 1
3

: n ) (2j0+1+3_(2j4 _i

(Vl) (_3)3 :(_3j3 x4 :(_3j12 - 7 a 7 _2401

\ 4 4 4 7. Let (~15)"" should be divided by x
[ T g (=15 ex=(=5)7"
(vii) (—“j } =(—11 (—15)‘&%:(—5)‘1

X
R T 1 .
(ix) 3 =32X3 =37 . (=15)"'should be divided by 3 to get
5. () (6°+7%)x (6" -7%) (-5
(I+1D)x (1-1) 8. Let (—8)"! should be multiplied by x
2x0=0

(-8) 'xx =107"
x=10"" +(-8)7!
1

Gi) (3% -4%)x7°
(1-1)x1=0x1=0

0 0 0 -1
(7 5 4 =107 x
i) |=| —|==| +| =] =1-(D)+1 _g)!
( )(8) ( 7) (7) . Lo
1-1+1=1 =107 x(=8)
. [3%x4%%50 g
Z T 10
6" +7 4
lxlxl_l xz—g
I+1 2 .. (=8)7! should be multiplied by
2 2
L (11 1) (11 4) -1
6. ) | —| x| —=|x|— —— |toget10 .
() (3) (3) (3) ( 5) 0%
N2 1Y 161051 9. Let 3™ should be multiplied by x
13 37 729 s 37 xx=3
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10. ()

(i)

339 g, L MCQs
. 93‘9 1. (c) 2. (b) 3. (b) 4. (b) 5. (d) 6. (b)
=lgx 37 =3 Mental Maths
x=3

4
37 should be multiplied by 310 o 1. The reciprocal of (;J is (7)4 .

get 3. .
3 7 2m 3 4\ -
(IJ x (1) :(lj (given) 2. (4j is equal to (Sj .
5 5 5 5 4
37 12" n°
(j :() 3. The value of(j is 1
5 5 4
10 2m
[lj :(1) 4.
5 5

2
The square of (_2] is (_2] = i
3 3 9
1

_ _ _ 3
Zm=10 5. The cube of(lj is (lj =
m=>5 9 9 729

6x _ 3 :
ST =(625) (given) 6. The value of 8° x 8" x 8% x (80 —80) is
5% _ (54}

0.
i 7 (_14)_1 is equal to 1
6x =12 "L 19 -14
(equating the exponent having 1 Y 4
same base) 8. The cube of(j is () =—
x=2 5 5 125

6 Algebraic Expressions
Exercise-6.1 2
) 3x? y+2z 3 XY
1. (i) 7x+x> (i) xp+(x—y) - % Z
(i) (x+y)+xy (1\{) x+6 (vi) 3 by 3 by
v) 3x+y (vi) 6+xy )
(Vll) 3 (3+ y) (an) (7_5y) 4. Like terms are 5
2. (i) Binomial (il)) Monomial (1) (3abc, —=cab, 7bac)
(ii1)) Binomial (iv) Binomial 3
(v) Monomial (vi) Monomial (_ Sab?, 2 bzaj
(vii) Trinomial 7
3. Numerical Literal Giy [ 7pq? 22
Coefficient Coefficient Pq 3 7P
i -9°¢7” -9 pigir (-3p*q.5qp> .~ nqp®, (V5 qp. 4 pg)
(i) —g 2 _g 2 Git) (3x2 yz, /5 yox?),
2 4 2
(iif) %azbzcd % a’b*cd (ﬁ me LT3z xy]
2
(iv) 32 % % =(5 v xz, 9rzy? j
4x“y x“y
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